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`m§{ÌH$ A{^`m§{ÌH$s 

(g¡ÕmpÝVH$) 

MECHANICAL ENGINEERING 

(Theory) 

{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 60 

Time allowed : 3 hours Maximum Marks : 60 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 3 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥>ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >8 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 

 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 
_| 10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 3 printed pages. 

 Code number given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 8 questions. 

 Please write down the Serial Number of the question before 
attempting it. 

 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 

the answer-book during this period. 

106 

SET-4 



106 2 

{ZX}e :  

(i) {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & 

(ii) g^r àíZm| Ho$ A§H$ g_mZ h¢ & 

Instructions :   

(i) Attempt any five questions.  

(ii) All questions carry equal marks. 

1. (H$) {d{^Þ àH$ma H$s nw{ëb`m| ({Ka{Z`m|) Ho$ Zm_ ~VmBE & 3 

(I) MoZ S´>mBd Ho$ Cn`moJ Xr{OE & 3 

(J) EH$ \$mñQ> VWm byµO nwëbr ({KaZr) H$m ñdÀN> {MÌ ~ZmBE VWm CgH$m Cn`moJ 
g_PmBE & 6 

(a) Name the different types of pulleys. 

(b) Give the uses of chain drive.  

(c) Draw a neat sketch of a fast and loose pulley and explain its use. 

2. ñdÀN> {MÌm| H$s ghm`Vm go EH$ Mma-ñQ´>moH$ noQ́>mob B§OZ H$s H$m`©àUmbr g_PmBE & 12  
With the help of neat sketches, explain the working of a four-stroke 

petrol engine.   

3. (H$) EH$ CÎm_ ~m°`ba H$s {deofVmE± ~VmBE & 6 

(I) S>r-bmdb Q>a~mBZ H$s H$m`©àUmbr H$m dU©Z H$s{OE & 6 

(a) Give the qualities of a good boiler. 

(b) Describe the working of a De-Laval turbine. 

4. (H$) noëQ>Z ìhrb H$s H$m`©àUmbr g_PmBE & 6 

(I) AmB©.gr. B§OZ Ho$ dmQ>a-Hy$qbJ {gñQ>_ H$s ì`m»`m H$s{OE & 6 

(a) Explain the working of a Pelton Wheel. 

(b) Explain the water-cooling system of an I.C. engine.   
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5. (H$) H§$H«$sQ> {_Šga H$s H$m`©{d{Y H$m dU©Z H$s{OE & 6 

(I) BH$m°Zmo_mBµOa H$m H$m`© VWm Cn`moJ g_PmBE & 6 

(a) Describe the working of a concrete mixer. 

(b) Explain the function and use of an economiser. 

6. (H$) ñdÀN> {MÌ H$s ghm`Vm go H$m°H$aZ ~m°`ba H$s H$m`©àUmbr H$m dU©Z H$s{OE & 8 

(I) {J`a S´>mBd Ho$ Cn`moJ Xr{OE & 4 

(a) Describe the working of a Cochran boiler with the help of a neat 

sketch. 

(b) Give the applications of gear drive. 

7. {ZåZ{b{IV Ho$ H$m`m] H$mo ñnîQ> H$s{OE : 

(H$) amoS amoba> 6 

(I) qgJb ßboQ> ŠbM 6 

Explain the functions of the following : 

(a) Road roller 

(b) Single plate clutch 

8. {ZåZ{b{IV H$m g§{já _| CÎma Xr{OE : 3 4=12 

(H$) doJ AZwnmV H$s n[a^mfm Xr{OE & 

(I) ñQ>r_ ñQ>m°n dmëd H$m ~m°`ba _| ñWmZ ~VmBE & 

(J) ~wbS>moµOa Ho$ Cn`moJ Xr{OE & 

(K) S>rµOb go MbZo dmbr Xmo H$mam| Ho$ Zm_ {b{IE & 

Answer the following in short : 

(a) Define velocity ratio.  

(b) Give the location of steam stop valve in a boiler.  

(c) Give the uses of bulldozer.   

(d) Name two cars run on diesel.  
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